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2 0 2

2

0

2

residuals

0.00.51.01.52.02.53.0

Fiber 524, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 609, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.05

Fiber 1398, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.2

Fiber 1241, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.2

Fiber 2777, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.050.000.050.100.15

Fiber 105, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.400.350.300.250.200.150.100.050.00

Fiber 1321, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 4477, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6 7

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0 0.2

Fiber 2084, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 1051, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 2550, dchi2frac= 1.0



2 0 2

2

0

2

data

1 0 1 2 3 4

2 0 2

2

0

2

model

1 0 1 2 3 4

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.10.20.3

Fiber 2522, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.2 1.4 1.6

2 0 2

2

0

2

model

0.91.01.11.21.31.41.51.6

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 1186, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.20.0 0.2 0.4 0.6

Fiber 2195, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.000.25

Fiber 4739, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6 7

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 4362, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

2.001.751.501.251.000.750.500.250.00

Fiber 84, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.83.03.23.4

2 0 2

2

0

2

model

1.82.02.22.42.62.83.0

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.200.250.30

Fiber 628, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.250.300.35

Fiber 449, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.53.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.40.20.00.20.40.6

Fiber 2930, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.300.250.200.150.100.050.000.05

Fiber 1331, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

model

1.82.02.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.100.150.20

Fiber 4313, dchi2frac= 1.0



2 0 2

2

0

2

data

1.81.92.02.12.22.32.42.5

2 0 2

2

0

2

model

1.8 2.0 2.2 2.4 2.6

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.20

Fiber 819, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.250.200.150.100.050.00

Fiber 956, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

3.0 3.5 4.0 4.5 5.0

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.000.25

Fiber 2535, dchi2frac= 0.9



2 0 2

2

0

2

data

0.250.000.250.500.751.001.251.501.75

2 0 2

2

0

2

model

0.000.250.500.751.001.251.501.75

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 132, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.253.503.75

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 969, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 2473, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 4476, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 9

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.00.51.01.52.02.53.03.5

Fiber 2669, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 2960, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

0.51.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.40.30.20.10.0

Fiber 4774, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 4832, dchi2frac= 1.0



2 0 2

2

0

2

data

0.5 1.0 1.5 2.0 2.5

2 0 2

2

0

2

model

0.500.751.001.251.501.752.002.252.50

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.3

Fiber 2804, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 910

2 0 2

2

0

2

model

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0 1 2 3 4 5

Fiber 567, dchi2frac= 1.0


